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QUESTION 1

Service-oriented computing advocates establishing a technology architecture with increased vendor technology
diversity, which means that service-oriented solutions need to be consistently built using different vendor technologies
and products. This way, the failure of any one vendor technology or product will not bring down all services within a
service inventory. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Service A is invoked by Desktop Application A, which requests a data value from Service A. In order for Service A to
retrieve this data value, it must invoke Service B, which retrieves the value from Database A. Which participant(s) in this
scenario are considered service consumers? SELECT ALL THAT APPLY 

A. Service A 

B. Service B 

C. Desktop Application A 

D. Database A 

Correct Answer: AC 

 

QUESTION 3

A service-oriented solution can be comprised of a single service with a single service capability. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

A service can be a service consumer. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 5

Non-agnostic solution logic is logic that is considered single-purpose because it is unique to a specific task, and
therefore not useful to other tasks. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 
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